Directions—(Q. 1-5) Study the
graph to answer these questions.

The bar graph below shows the
sales of six different cell phone manu-
facturers in 2011 (in 000 units). The
following pie chart shows the break-
up of sales of brand ‘C” alone in the
same year for those countries where it
is sold.
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4.

If ‘A’ alone registers growth in
sales in 2012 and draws level
with the volume of ‘B’, what
would be their combined share
of the global sales volume ?

(A) 29-9% (B) 31-2%

(C) 27% (D) 33%

If the sale of phones in 2012
registers a uniform 33% growth

across all brands and all coun-
tries, what would be the com-

bined sales volume of phones in
India, Japan and Korea taken
together, in that year ?

(A) 87224 (B) 82136

(C) 85146 (D) 78958

Directions—(Q. 6-10) Study the

table below to answer these questions.

1. What is the difference in volume
of sales of brand ‘C" in UK and

India ?
(A) 2892 (B) 3290
(C) 3112 (D) 2918

2. By what percentage should global
sales of brand ‘C’ phone increase
so that its sales volume in Korea
becomes 7,000 units, while the
volume of sales to all other coun-
tries remains the same ?

(A) 11 (B) 09
(C) 23 (D) 07

3. Ifin2012 the global sales of brand
‘C’ increases by 12%; while its
sale in USA increases by 347 and
in China by 22%, what is the
approximate sales increase in the
rest of the countries taken to-

gether ?
(A) 1-83% (B) 2-25%
{C} 2'};1 {D) 1‘5%

, Country
tem " T B[ c|[D|[E]|F
Iron ore : 18 12: 25: 11 r 32|r 5
Coal | 12 | SBIEEI E'. 29. 42
Silver | 14. 15. 25. 3| 4.3' 24
Copper | 23| 12| 20| 2| 2| 16
Gold | 2 4| 8| 1 3| 10

The table shows the quantities of

minerals exported from India to six
different countries A, B, C,D,Eand F
(in "000 tonnes) in the year 2010.

6.

If the second-largest importing
country increases its off-take of
all the minerals, taken together,
from India and is at par with the
largest importer, its share of the
total exports of minerals from
India would be—

(A) 26% (B) 19%
© 23% (D) 24%

If India were to ban the export of
Gold altogether, by what appro-

ximate percentage should the
export of the rest of the minerals

increase so that the total quantity
of minerals exported remains the

same ?
(A) 18
<) 32

(B) 3
(D) 6

8.

10.

Eighteen per cent of country E's
total requirement of Iron ore is
being met by imports from India.
Next year, its total requirement
of iron ore is expected to fall by
22%, and only 12% of the revised
requirement will be imported
from India. Assuming all other
exports to country ‘E’ by India
remain at the same levels, what
would be its total percentage
drop in quantity of exports to

B ?
(A) 284 (B) 11-2
(C) 134 (D) 182

If international demand for Coal
from India rises by 12%, that of
[ron ore by 8% and Copper by
15%, by how much per cent will
total exports from India rise,

assuming export of Gold and
Silver remain at the same level ?

(A) 68 (B) 112

(C) &1 (D) 7-6

If due to rise in prices, volume of
exports of Gold decreases by 12%
while that of Silver decreases by
14%, but due to global rise in car
production levels, however,
demand for Iron ore increases by
6%, what is the net effect on
volume of exports from India ?
(A) Increase of 3-2%

(B) Decrease of 2-3%

(C) Increase of 2:3%

(D) Decrease of 3-2%

Directions—(Q. 11-15) Each of

these has a question followed by two
statements numbered 1 and II. Mark
answer as—

(A) If statement I alone is suffi-
cient but statement II alone
is not sufficient to answer
the question.

If statement II alone is suffi-
cient but statement I alone is
not sufficient to answer the
question.

(B)



11.

12,

13

14.

15.

(C) If both statements I and II
together are required to
answer the question but
neither statement alone is
sufficient.

(D) If statementsI and II together
are not sufficient to answer

the question.

If a certain village is losing 12%
of its water supply each day
because of a burst water pipe,
then what is the loss in rupees
per day ?

[. The daily water supply to
the village is 700 m gallon.

[I. The cost to the village for
every 24000 gallons of water
lost is ¥ 25

Dipesh had a lawyer’s appoint-
ment on a certain day. Was the
appointment on a Tuesday ?

[.  Exactly 60 hours before the
appointment, it was Sunday.

II. The appointment was bet-
ween 1-00 pm and 9-00 pm

What is the weighted average of
marks obtained by Ashokan ?

I. Math, Science and English
have weights 5, 4 and 3 res-
pectively.

I[I. Simple arithmetic mean of
Math and Science is 140,
which is twice his average of
Science and English

Total amount of T 38,500 was
distributed among Anuj, Sonam
and Deepak. How much does
each get ?

I.  Anujgets 3 of what the other
two together get.

Il. Sonam gets 13] of what the
other two together get.

Nitu and Arun start walking
towards each other simultane-
ously. What is the distance bet-
ween them when they start ?

[. 30 minutes after crossing

each other they were 1200 m
apart.

Il. After crossing each other,
Nitu reaches the starting
point of Arun in twice as
much time as Arun takes to

reach the starting point of
Nitu.

Directions—(Q. 16-20) Two

quantities A and B are given in each
of the following questions. Mark ans-
wer as—

16.

17.

18.

19.

20.

(A) If quantity A is greater than
quantity B.

(B) If quantity B is greater than
quantity A.

(C) If quantities A and B are
equal.

(D) If comparison cannot be
made.

A. The number of ways you can
divide 6 different candies to
4 different people.

B. The number of ways you can
divide 7 different candies to
3 different people.

Arun and Rakesh bought the
same brand of car. Arun got a
10% discount from the dealer
after which 7% sales tax was
added. For Rakesh 7% tax was
added and only then a 10% dis-
count was given.

A. The amount Arun paid for
the car.

B. The amount Rakesh paid for
the car.

The average height in the class
didn’t change after Shaan and

John left and Aarti and Geeta
came.

A. The height of Shaan
B. The height of Aarti.

Travis received an allowance.
With a fifth of the money, he
bought a ticket to a movie and
with a quarter of what is left he
bought a slice of pizza.

A. The price of a movie ticket.
B. The price of a slice of pizza.

Mukesh and Vijay each have
some stamps while Sharon has
none. They decided to give
Sharon half of the number that
Mukesh has and half of the num-
ber that Vijay has.

A. The average number of
stamps that Mukesh and
Vijay have before giving
Sharon any stamps.

B. The number of stamps that

Sharon gets from Mukesh
and Vijay.

Directions—(Q. 21-25) Study the

graphs to answer these questions.

The combined total sale of six

models of cars A, B, C, D, E and F
sold by a manufacturer in 2010 and
2011 was 2,222 and 2,884, respecti-
vely. The percentage break-up of the
sales of these six models in the two
years is shown in the pie-charts
below—

Break-up of Car Sales in 2010

21.

23.

24,

What is the ratio of the number
of cars sold of model A in 2010 to

the number of cars sold of model
Cin20117?

(A) 13:2 (B) 0-58:1
(C) 062:1 (D) 1:1:27
By how much percentage is the
increase in sales from 2010 to

2011 of model D more/less than
that of model C ?

(A) 69% less

(B) 60% more

(C) 59% less

(D) None of the above

How many models have regis-
tered higher percentage increase
in sales individually, as com-

pared to the percentage increase
in total sales ?

(A) 2
(B) 3
1
(D) None of these

If the declining trend in model B
sales is projected to continue in
2012 as well, what would be the
approximate model B sales in
that year ?

(A) 459
(C) 430

(B) 424
(D) 434



25.

What was the ratio of the com-
bined sale of the two highest
selling models to that of the two
lowest selling models in 2011 ?

(A) 2:1 (B) 3:1
{C) 5:1 (D) 1:4
Directions—(Q. 26-30) Study the

information below and answer these
questions.

The adult population of a town

in 1990 was 20,440 people of which
53% were females while 60% were
illiterates. Of these, the number above
the age of 50 in that year was 17%. In
the 2000 Census, it was found that
adult population has reached 30,760,
48% of them being females. Of the
total adult population in 2000, 72%
were below the age of 50 and total
illiterates were 7,000. Assume uniform
pattern of age distribution amongst
males and females.

26.

27.

28.

29.

30.

What is the ratio of adult females

below the age of 50 in the years
1990 and 2000 ?

(A) 2-50:2 (B) 2:2-50
(C) 1:118 (D) 1-18:1
If every adult female above the
age of 50 was given a special

annual allowance of ¥ 24,000 in
1990 which was increased to
¥ 30,000 by the year 2000, by
what percentage has the quan-
tum of this annual allowance in-
creased [ decreased from 1990 to

2000 ?

(A) 108 (B) 280

(C) 208 (D) 180

What is the ratio of total adult
illiterates in 1990 to total adult
temales below 50 in 2000 ?

(A) 1:0-87 (B) 1-15:1

(C) 0-87:1 (D) 1:1:15
What has been the percentage
increase in adult illiterates from

1990 to 2000 ?

(A) 127 (B) 191

(C) 132 (D) 275

If expense incurred on education

(per literate adult) in 1990 was

¥ 1200 and the same had
increased by 25% in 2000, what is
the percentage increase in expen-
diture under this head ?

(A) 236 (B) 263
(C) 250 (D) 178

Directions—(Q. 31-35) Study the
graph to answer these questions.

The graph below shows the num-
ber of graduates (in '000) of different
streams, in six different states of a
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31. The total number of graduates of
which two streams from all the
states taken together are in the
ratio4:57?
(A) Science and Engg.
(B) Science and Arts
(C) Artsand IT

(D) Engg.and IT

32. In which two states is the num-
ber of IT graduates, as a percen-
tage of the total number of
graduates in that state, most
nearly the same ?

(A) CandF (B) EandB
(C) AandE (D) DandF

33. By what per cent is the sum total
of Engg. graduates in B, C and F
taken together greater than the
sum total of Arts graduates in D
and E taken together ?

(A) 56 (B) 68
(C) 65 (D) 86

34. The number of Science graduates
in all the states combined is what
per cent of the number of

graduates of all other streams
taken together ?

(A) 285 (B) 279
(C) 297 (D) 214

35. In which states is the difference
between the number of Engg.
and IT graduates higher than the
difference between the number
of Science and Arts graduates ?
(A) A,CandE
(B) C,FandB
(C) F,Band D
(D) C,DandE

Directions—(Q. 36-40) Study the
graph to answer these questions.

The graph below shows sales of
different colours of Brand-X refrige-
rator for the years 2009, 2010 and
2011.

Brand-X: Sales Volume by colour
of refrigerator (in "000s)
12000 2010 2011
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36. Over the given three years which
has been the highest selling
colour; and what percentage of
volume did it account for ?

(A) Blue, 21%

(B) White, 25%
(C) White, 26%
(D) Lemon, 28%

37. Sale of which colour(s) of refrige-
rator registered the highest per-

centage increase between 2010
and 2011 ?

(A) Blue
(B) Lemon
(C) Red and Blue
(D) Grey

38. What is the share of sales volume
accounted for by the year 2011 ?
(A) 43-26% (B) 46-14%
(C) 44-16% (D) 41-64%

39. What is approximately the ratio
of sales of Red, Lemon and White

refrigerators, taken together, in

2010 to that of the combined total
sales of Blue and Grey ones in

2009 and 2011 taken together ?
(A) 9:10 (B) 10:9
(C) 11:12 D) 1:12

40. How many instances are there in
the graph when the difference in
sale of refrigerators was greater

or lesser by 35% or more as
compared to the previous year ?

(A) 4 (B) 5
(€) 6 (D) 7
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